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Halo FOF 2 z=5.38: Stelar age [Myear]
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Halo FOF 2 z=5.38: Temperature [K/u]

742

Halo FOF 2 z=5.38: Temperature [K/u]

6.46

6.37
)
N
(%]
X
551 8 551
&
>_
4.66 4.55
3.81 3.59
39.5 40.0 40.5 41.0 57.0 57.5 58.0 58.5 57.0 57.5 58.0 58.5
Y [% boxsize] X [% boxsize] X [% boxsize]
Halo FOF 2 z=5.38: Velocity Vx [km/s] Halo FOF 2 z=5.38: Velocity Vy [km/s] Halo FOF 2 z=5.38: Velocity Vz [km/s]
98.63 133.30 101.94
49.31 66.65 405 50.97
)
N
4]
0.00 0.00 é 0.00
-0, -0, 9 -0,
R 40.0
>.
-49.31 —66.65 -50.97
-98.63 -133.30 d -101.94
39.5 40.0 40.5 41.0 57.0 57.5 58.0 58.5 57.0 57.5 58.0 58.5
Y [% boxsize] X [% boxsize] X [% boxsize]
Halo FOF 2 z=4.01: Density p/pavg Halo FOF 2 z=4.01: Density p/pavg Halo FOF 2 z=4.01: Density p/pavg
4.61 4.31 M.0 4.66
323 2.96 405 333
o) o)
N N
(4] (4]
1.85 é 1.61 é 1.99
: 8 ; g A
2 ) 40.0
—29.5 o
N >
047 0.26 395 0.66
-0.91 -1.09 -0.68
39.5 40.0 40.5 41.0 57.0 57.5 58.0 58.5 57.0 57.5 58.0 58.5
X [% boxsize] X [% boxsize]

Y [% boxsize]
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Halo FOF 2 z=4.01: Stelar Mass p/pavg
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